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Problem



• Slopes

• at least 1 slope

• at most 5000 slopes

• slopes go downhill

• condition measure between 1 and 100

• Points

• at least 2 points

• at most 1000 points

• point without incoming slope = mountain top

• point without outgoing slope = valley

• helicopter can land at any point

Input + Constraints
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Output

7



Summary

• Input:

• directed, weighted, acyclic graph

• Output:

• weight of longest path

• Optimizations:

• Starting points are always at mountain tops

• Removal of multiple slopes between 2 points



Approach 1: Brute Force
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Approach 2: Bellman-Ford
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Approach 3: ?
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Approach 3: Topo-Sort



Implementation topological sort
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